XYZ,=102.06 , 100.0 , 81.06

A,=256,-8,)Y 1-69
B,=25B, (b,-b,) Y 1
E=:m{(>;;‘xc)/ﬂ :
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o= 1, by=-04 4Gy
X, = 0,110, B, = 1,000 ==

o~ IAZ+BAT 598,
6 OstwaldFarben (o) 1 /
von maximalem (m)C,g 17

P
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Lichtart P00, Y, =10Q Yy=10 ==

Name Bereich X, Vi 7, % Yy Py A
R, 572775 7233 46550 822 05688 0.3664 660 D0
V) 496775 9007 9504 11.7 04576 04828575 467
496572 28.05 5654 11,66 02854 0.5958 541 541
C! 380 572 40.05 6351 8102 02169 0344 491 600
B 380_496 223 1506 7755 0194 01311467 575
M, 572_49 84.33 5156 77.59 0395 02415 5410541
W}380_775 10208000 81.06 0.3504 0.3531 100%
N,'360.775 102 100 81 03604 03531 10%

2 330 775 1837 180 1459 03604 03531 18%

Parameter:

Y & Name
Lichtart POO
Y,=100 Y,=10
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